
#81312 - Low Visibility Wheelie Bars�
for the Traxxas Slash 2wd & 4x4

What's Included: 1 - tree (containing 1 - Left & 1 - Right Wheelie Bar Bracket 
and 2 - Nylon Wheels), 4 - M3 x 25mm buttonhead screws, 2 - M3 x 16mm 
buttonhead screws, 4 - #4 washers, 2 - 3mm locknuts and 2 aluminum 
bushings.

Required: You must have an RPM rear bumper for a Slash 2wd or Slash 4x4 
(not included) in order to install RPM Low Visibility Wheelie Bars. They will 
not work with a stock Traxxas or any other aftermarket manufacturer's 
bumper.

Before You Begin: Identify and carefully trim the 4 parts on the parts 
tree. Refer to the illustration for the correct orientation of the two 
wheelie bar brackets, taking note of the placement of the hex nut in 
relation to the bumper.

Installation: Slip a 3mm locknut in the hexagonal opening in each 
of the two wheelie 
bar brackets. Now install 
the screw assembly through 
the wheels and into the wheelie 
bar bracket in exactly the following 
order - M3 x 16mm buttonhead screw/ #4 
washer/ aluminum sleeve/ RPM Wheel/ #4 washer/ RPM Wheelie Bar Bracket/ 
3mm locknut. Caution: The smooth, flat side of the #4 washers should face 

towards the wheel. Do not over-tighten the screw since the wheel needs to rotate freely. Once both wheels are installed, bolt the 
RPM wheelie bar brackets to your RPM rear bumper using the included M3 x 25mm screws. The RPM wheelie bar can be used 
with or without RPM mud flaps in place. If you have or are installing RPM mud flaps (RPM #81012), remove the screws that attach 
the mud flaps to the RPM bumper support, place the wheelie bar bracket between the mud flap support arm and the RPM rear 
bumper support (best position) or, if the mud flaps hit the body, the wheelie bar bracket may be placed to the outside of the mud 
flaps, then secure with the included M3 x 25mm screws.

#4 Washer

Wheel

Aluminum Sleeve

M3 x 16mm Screw
#4 Washer

Wheelie Bar Bracket


